Notes 3-2
Sec 1 H Recursive & Explicit Equations for Arithmetic Sequences Unit 3

Example 1: Augustus Gloop is struggling to get his homework done. Since he loves candy so
much, his mom offers him a deal. His mom offers no candy on the day she explains the deal
(day 0), and offers to give him 20 the next day, 40 the next day, then 60, then 80, continuing
that pattern each day as long as he gets his homework done.

1. Write a recursive equation for mom’s deal.
H)=0  f()= L0 +20
2. How many candies will Augustus receive on day 14?
Q)= 1420 = Zs0.

3. How many candies will Augustus receive on day 277

£(21) = 272 fg@

4. Make a table (rule chart) (") Jarle 5. Make a discrete graph
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6. Write an!explicit equatioﬂ)to describe how many candies Augustus will receive
on the@’ 3y of completing his homework. _
Yemx+lo
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7. Use the equation to determine how many candies Augustus will receive on the
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Example 2: Scott has decided to add push-ups to his daily exercise routine. He is keeping trgck
of the number of push-ups he completes each day in the bar graph below, with dqy one showing
he completed three push-ups. After four days, Scott is certain he can continue this pattern of
increasing the number of push-ups he completes each day.

4 2= ¢
8. Write a recursive equation for Scott’s workout. 1’/7; /) “
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9. How many push-ups will Scott do on day 10?

10. How many push-ups will Scott do on day 23?

I1. Make a table (rule chart) (7)) 12. Make a discrete gra&h
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13. Write an explicit equation for how many push-ups Scott will do on da@

o )= 2/F 1)

14. Use the equation to determine how many push-ups Scott will do on day 365

[(2e5) = 2 (55 14 1)

15. Ally is also including push-ups in her workout and say

ups than Scott because she does fifteen push-
Explain why or why not. SR

s she does more push-
. Is she correct?
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o Find the next 3 terms in each sequence.
a ¢ Identify the constant rate.
L e Write a recursive equation.

c e Write an explicit equation.
d* Circle where you sce the constant rate show up in the recursive AND explicit

equations.
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Now, let’s try these. What do you notice about our initial values in these two tables?

18.

1.

Find the next 3 terms in each sequence.

Identify the constant rate.

Write a recursive equation.

Write an explicit equation. (How can the recursive equation be used to create
the explicit equation?)

Circle where you see the constant rate show up in the recursive AND explicit
equations.

X | 13]14]15]16] 17 [ 18|19 | 20
F) | 214]@82) 15 [ 11.8] 86 (5.4 ] 2.2] —|

>
a) Ceoc i —2.2

BY £(2)= 214, £)=L0YE2.2) -
) _,_,—M;),M,,T (X ) F LY ) 2 9).4f= \/\V;;Z_\)(@\)-‘—E

- "/'/i/ﬂ’,ﬁ-‘-' N V\" [ 7“,' P R
(0) T()="2EX [ ety It [
— ‘- 7 ]L [.

S 21 [ 20 ] 19 <18 | -17 [ -16 [ -15 | -14 |




Notes 3-2

Sec1H Recursive & ExBlicit Eguations for Arithmetic Seﬂuences Unit 3

20. How does the starting point change the explicit equation?

21. What will the explicit equation always look like for any arithmetic sequence?
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